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for the questions,

Part A (¥ -9t)

Q. No. 1 (a-f) carries 1 mark each 1%6= 6
Q. Ne. 2 -7 carrigs 2 nnarks ench 2=6 = 12
. No. & =12 carries 4 nutrks encht 45 = 20
Q. No. 13 & 14 carries & marks ench 622 = 12

Total = 50

Part B (¥ -=94)

Q. No. 15 {a = [} carries 1 mark each 6= 6
Q. No. 16 = 21 carvies 2 marks ench Jup = 12
(). No. 22 -26 corries 4 marks each x5 = 20
(). No. 27 & 28 carries 6 marks each px2 =12
Total = 50

Total (Part A & B): 50+ 50 =100
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PART-A /F-9™

1. (a) Define the term scarcity as used in economics. 1
weffifes aREe TRi-ER b e

() What is opportunity cost? 1

ot =

(¢} If marginal utility of a commodity is higher than the price, then the

consumer will buy more of the commodity. 1

(Write true or false)

o o) waR of Gerafier B e e @, (S8 EHUSE

w3 (8% 7 g )

(d) What will be the effect of price change on supply of a commodity

with perfectly inelastic supply ? 1

Wmﬁmﬂﬁwmﬁmmﬁﬁf

(¢} How will an increase in the price of inputs shift the supply curve ?
1
BT e (IR (R GO ISR W 36 ¢
()  What is shut-down price ? 1
e W

2. Why the production possibility curve slopes downward from left to right ?
2

Seo TERAEE (o e deER A clrmta FEs) vee = Y

3,  Give two reasons of a leftward ghift in the demand curve. 2
wifew G e FREEE s ghy e B w4

4. The price elasticity of demand of a commodity is 4 and the percentage
change in price is B. Find the percentage change in the quantity
demanded. 2
51 B SR T T 4 WE A e sfdedn 8. ol e
sffdada e 4

5.  What is fixed factor ? Give one example, 1+1=2
fe Tomm & ¢ by Tt T
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12.

What is meant by inelastic supply 7 Draw an inelastic supply curve,

14]=2
wfgfeaem oo & ¢ quE sfEfeges arF @9 9@ 34

Mention fwo differences between monopoly and perfectly competitive
market. 2

Rl T W+l AfermirenEs aeEA g ke S 54 |

Distinguish between change in quantity demanded and change in
demand. 4

iR TR s wm sfemm e a o orea)

Mention the relationship between total utility and marginal utility. 4
T Beraiie wE it Sefie died Feud S =)

What is variable cost? Why the average variable cost (AVC) curve
becomes U shaped ? 1+3=4

AR 7w ¢ o «FeseTE am o (AVC) B U wigfa e

The production function of a firm is Q:ZL"*. K.

Find the amount required of factor K if the firm wants to produce 200
units with available 16 units of factor L.

(Q = Cutput, K=Capital, L = Labour) 4

i TEE e Sesmm B TR Q=20" K° | i oipd 16 @
[ TomEA SESiE 200 9= By Sesm 3R EREm o ool
KB S AR 4 (O = Bestrer AN, K= 77, L= =R%))

Mention the effects of the following on the supply of a commodity. )
P

(i)  Fall in the price of factors.

(i) Rise in the per unit tax.

51 BIA (A eoT wEe S T A oo S w4

(i) EAMFEEER TR A

(i) =fE o= e ¥ P |
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13. Explain the Law of Variable Proportion with diagram. (&

14.

29T ECON

T Tz ST Beme R g

Or/ =43

The total fixed cost of a firm is Rs. 200. Fill in the blanks of the following
table. 6

wﬁmﬂmwﬁmmmlmwwﬂ|

Output TC AC AVC MC
BesE

1 = 5 100 =

2 450 - i =

3 = 250) - -

4 = i - 230
Explain the process of Long-run Equilibrium Price determination of
perfectly competitive industry with diagram.

6
o sfferafireniie St TR SEH) T G st e ST

e =
Or/ st

Show the effects of change in demand of a commaodity on equilibrium
price, if 3+3=6

(i) the supply of the commaodity is perfectly elastic

(i) the supply of the commodity is perfectly inelastic.
mymmwammﬁmqﬁa@%mmﬁﬁtﬁw
) EEBE e o FEfEge

(i) EEE e o wEfEEeE |
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16.

17.

18.

PART-B / 4-@red

(1) In what circumstances, the GDP of an economy can be equal to
GNP ? 1

B waEs a9 oFE GDP, GNP 3 %R = #3?

{h) What is transfer payment ? 1
warsfe s B o

(c) What is voluntary unemployment ? 1
s S =

(d) What is Break-Even income ? . |

et uy & 1

(e) What is the full form of GST? 1
GST A o @il 7 ¢

() What is zero primary deficit ? 1
ey eefs wils % ¢
Mention two subject matters of Macroeconomics, 2

wsf mdRmER g7 g S 3

wention any two types of leakages found in the Circular Flow of Income.

What is investment multiplier 7 Write the relationship between investment
multiplier and MPC. 1+1=

ﬁﬁmmﬁﬁ?ﬁﬁmﬂwmmmammﬁw
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Mention the fwo primary functions of money, 2
gu g ey 2l Srer )

Mention tiwo differences between revenue receipts and capital receipts.
2

2wy =Y um g ot e gy ende e

State two sources of supply of foreign currency. 1+1=2
T IEE A FD Be B )

The value of MPC of an ECONOMY is 0-4. What amount of new investment
is required to generate new income of Rs. 5N crore in the economy ?
4

e g e MPC 3 5 0-4 | medTedTs sgeine 500 i 5o win safie wan
A & «faarr T RRwer oo w1 e

Explain any tieo fiscal measures to solve the problems of excess demand in
an economy. 242=4

e e e =i sifEme e s SR IR S v i e
T =4

Mention four factors causing disequilibrium in Balance of Payment of a
country. +

G (R <iEnely AIEE TEREERE 3R T 5E0 Seve B =)

Write down four differences between Direct Tax and Indirect Tax. 4
HEF T HF AT T4 WoA 5E ohdfm

What is Budget Deficit ? What are the tiree types of Budgetary Deficit ?
1+3=4

et ot & ¢ anwt ot GRm s EH e
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27. Describe the Circular Flow of Income in a Three Sector Economy. 6
e TERG 2oy wenien wm s e Fed
Or/ @957

Explain the Expenditure Method of calculating Gross Domestic Product
(GDP), 6

i wea| Sesma semE A HrEfecs! e =

28. Explain the process of credit creation by commercial banks. 6
wffers @ an fea ofEFans Jrar =4
Or/ q99
Describe the Quantitative methods adopted by the Central Bank to control
credit created by commercial banks. 6
2FfETE @ AR S 9 IR A R T S T RS
AR F41

x
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